

"Vasile Alecsandri" University of Bacău
Faculty of Sciences
Scientific Studies and Research
Series Mathematics and Informatics
Vol. 21 (2011), No. 1, 205 - 214

A GENERAL FIXED POINT THEOREM FOR SEVERAL MAPPINGS IN G -METRIC SPACES

VALERIU POPA

Dedicated to the memory of Professor Gabriel Puiu

Abstract. In this paper we improve, extend and generalize the main results from [17], in G - metric spaces for mappings satisfying implicit relations.

1. INTRODUCTION

In [4], [5], Dhage introduced a new class of generalized metric space called D -metric space. Mustafa and Sims. Mustafa and Sims [8], [9] proved that most of the claims concerning the fundamental topological structure of D - metric spaces are incorrect and introduced appropriate notion of generalized metric space, named G - metric space. In fact, Mustafa and other authors [3], [7] - [14], [19] studied many fixed point results for self mappings in G - metric spaces under certain conditions. In [1] and [7], some fixed point results for two mappings satisfying a form of compatibility are proved. Quite recently, Karayilan and Telci [6] proved some fixed point theorems for two mappings satisfying two contractive (extensive) conditions in G - metric spaces. In [17], Popa and Puiu proved a fixed point theorem for several mappings in metric spaces which generalize the main results from [19]. In [15], [16], Popa initiated the study of fixed points for mappings satisfying an implicit relation.

Keywords and phrases: G - metric space, fixed point, implicit relation.

(2000)Mathematics Subject Classification: 47H10, 54H25

In this paper we improve, extend and generalize the corresponding results from [17] in G - metric spaces for mappings satisfying implicit relations.

2. PRELIMINARIES

Definition 2.1. Let X be a nonempty set and $G : X^3 \rightarrow \mathbb{R}$ be a function satisfying the following properties:

- $(G_1) : G(x, y, z) = 0$ if $x = y = z$,
- $(G_2) : 0 < G(x, x, y)$ for all $x, y \in X$ with $x \neq y$,
- $(G_3) : G(x, x, y) \leq G(x, y, z)$ for all $x, y, z \in X$ with $z \neq y$,
- $(G_4) : G(x, y, z) = G(x, z, y) = G(y, z, x) = \dots$ (symmetry in all three variables),
- $(G_5) : G(x, y, z) \leq G(x, a, a) + G(a, y, z)$ for all $x, y, z, a \in X$ (rectangle inequality).

Then, the function G is called a G - metric on X and the pair (X, G) is called a G - metric space.

Note that $G(x, y, z) = 0$, then $x = y = z$.

Definition 2.2 ([9]). Let (X, G) be a G - metric space. A sequence (x_n) in X is said to be:

- a) G - convergent if for $\varepsilon > 0$, there exists an $x \in X$ and $k \in \mathbb{N}$ such that for all $m, n \geq k$, $G(x, x_n, x_m) < \varepsilon$.
- b) G - Cauchy sequence if for $\varepsilon > 0$, there exists $k \in \mathbb{N}$ such that for $n, m, p \geq k$, $G(x_n, x_m, x_p) < \varepsilon$, that is $G(x_n, x_m, x_p) \rightarrow 0$ as $n, m, p \rightarrow \infty$.

A G - metric space is said to be G - complete if any G - Cauchy sequence is G - convergent.

Lemma 2.1 ([9]). Let (X, G) be a G - metric space. Then the following properties are equivalent:

- 1) (x_n) is G - convergent to x ;
- 2) $G(x_n, x_n, x) \rightarrow 0$ as $n \rightarrow \infty$;
- 3) $G(x_n, x, x) \rightarrow 0$ as $n \rightarrow \infty$;
- 4) $G(x_n, x_m, x) \rightarrow 0$ as $n, m \rightarrow \infty$.

Lemma 2.2 ([9]). If (X, G) is a G - metric space, then the following properties are equivalent:

- 1) The sequence (x_n) is G - Cauchy;
- 2) For every $\varepsilon > 0$, there exists $k \in \mathbb{N}$ such that $G(x_n, x_m, x_m) < \varepsilon$ for all $n, m > k$.

Definition 2.3 ([9]). Let (X, G) and (X', G') be two G - metric spaces. A function $f : (X, G) \rightarrow (X', G')$ is said to be G - continuous at a point $a \in X$ if for $\varepsilon > 0$, there exists $\delta > 0$ such that for all $x, y \in X$ and $G(a, x, y) < \delta$, then $G'(f(a), f(x), f(y)) < \varepsilon$.

A function f is G - continuous if it is G - continuous at each $a \in X$.

Lemma 2.3 ([9]). Let (X, G) and (X', G') be two G - metric spaces. A function $f : (X, G) \rightarrow (X', G')$ is G - continuous at a point $x \in X$ if and only if it is G - sequentially continuous, that is, whenever (x_n) is G - convergent to x we have $f(x_n)$ is G' - convergent to $f(x)$.

Lemma 2.4 ([9]). Let (X, G) be a G - metric space, then the function $G(x, y, z)$ is jointly continuous in all three of its variables.

The following theorem is proved in [17].

Theorem 2.1. Let (X, d) be a complete metric space and $P_1, P_2, \dots, P_k : (X, d) \rightarrow (X, d)$ k mappings such that

$$d(P_i x, P_{i+1} y) \leq ad(x, y) + b(d(x, P_i x) + d(y, P_{i+1} y)) + c(d(x, P_{i+1} y) + d(y, P_i x))$$

for all $x, y \in X$, where $P_{k+1} = P_1$ and $a + 2b + 2c < 1$.

Then P_1, P_2, \dots, P_k have a unique common fixed point.

3. IMPLICIT RELATIONS

Definition 3.1. Let \mathfrak{F}_G be the set of all continuous functions $F(t_1, \dots, t_6) : \mathbb{R}_+^6 \rightarrow \mathbb{R}$ such that

(F_1) : F is nonincreasing in variable t_5 ,

(F_2) : There exists $h_1 \in [0, 1)$ such that for all $u, v \geq 0$, $F(u, v, v, u, u + v, 0) \leq 0$ implies $u \leq h_1 v$,

(F_3) : There exists $h_2 \in [0, 1)$ such that for all $t, t' > 0$, $F(t, t, 0, 0, t, t') \leq 0$ implies $t \leq h_2 t'$.

Example 3.1. $F(t_1, \dots, t_6) = t_1 - at_2 - bt_3 - ct_4 - dt_5 - et_6$, where $a, b, c, d, e \geq 0$ and $0 < a + b + c + 2d + e < 1$.

(F_1) : Obviously.

(F_2) : Let $u, v \geq 0$ be and $F(u, v, v, u, u + v, 0) = u - au - bv - cu - d(u + v) \leq 0$ which implies $u \leq h_1 v$, where $0 \leq h_1 = \frac{a + b + d}{1 - (c + d)} < 1$.

(F_3) : Let $t, t' > 0$ be and $F(t, t, 0, 0, t, t') = t - at - dt - et' \leq 0$, then $t \leq h_2 t'$, where $0 \leq h_2 = \frac{e}{1 - (a + d)} < 1$.

Example 3.2. $F(t_1, \dots, t_6) = t_1 - k \max\{t_2, t_3, t_4, t_5, t_6\}$ where $k \in \left[0, \frac{1}{2}\right)$.

(F_1) : Obviously.

(F_2) : Let $u, v \geq 0$ be and $F(u, v, v, u, u + v, 0) = u - k \max\{u, v, u + v\} \leq 0$. Hence $u \leq h_1 v$, where $0 \leq h_1 = \frac{k}{1-k} < 1$.

(F_3) : Let $t, t' > 0$ be and $F(t, t, 0, 0, t, t') = t - k \max\{t, t'\}$. If $t > t'$, then $t(1-k) \leq 0$, a contradiction. Hence $t \leq t'$, which implies $t \leq h_2 t'$, where $0 \leq h_2 = k < 1$.

Example 3.3. $F(t_1, \dots, t_6) = t_1 - k \max\left\{t_2, t_3, t_4, \frac{1}{2}(t_5 + t_6)\right\}$ where $k \in [0, 1)$.

(F_1) : Obviously.

(F_2) : Let $u, v \geq 0$ be and

$$F(u, v, v, u, u + v, 0) = u - k \max\left\{u, v, \frac{1}{2}(u + v)\right\} \leq 0.$$

If $u > v$, then $u(1-k) \leq 0$, a contradiction. Hence $u \leq v$ which implies $u \leq h_1 v$, where $0 \leq h_1 = k < 1$.

(F_3) : Let $t, t' > 0$ be and $F(t, t, 0, 0, t, t') = t - k \max\left\{t, \frac{1}{2}(t + t')\right\} \leq 0$. If $t > t'$, then $t(1-k) \leq 0$, a contradiction. Hence $t \leq t'$, which implies $t \leq h_2 t'$, where $0 \leq h_2 = k < 1$.

Example 3.4. $F(t_1, \dots, t_6) = t_1^2 - t_1(at_2 + bt_3 + ct_4) - dt_5t_6$, where $a, b, c, d \geq 0$ and $0 < a + b + c + d < 1$.

(F_1) : Obviously.

(F_2) : Let $u, v \geq 0$ be and $F(u, v, v, u, u + v, 0) = u^2 - u(av + bv + cu) \leq 0$. If $u > 0$, then $u - av - bv - cu \leq 0$ which implies $u \leq h_1 v$, where $0 \leq h_1 = \frac{a+b}{1-c} < 1$. If $u = 0$, then $u \leq h_1 v$.

(F_3) : Let $t, t' > 0$ be and $F(t, t, 0, 0, t, t') = t^2 - at^2 - ctt' \leq 0$, which implies $t \leq h_2 t'$, where $0 \leq h_2 = \frac{c}{1-a} < 1$.

Example 3.5. $F(t_1, \dots, t_6) = t_1 - k \max\left\{t_2, \frac{t_3 + t_4}{2}, \frac{t_5 + t_6}{2}\right\}$ where $k \in [0, 1)$.

(F_1) : Obviously.

(F_2) : Let $u, v \geq 0$ be and $F(u, v, v, u, u + v, 0) = u - k \max \left\{ v, \frac{u + v}{2} \right\}$

≤ 0 . If $u > v$, then $u(1 - k) \leq 0$, a contradiction, hence $u \leq v$ which implies $u \leq h_1 v$, where $0 \leq h_1 = k < 1$.

(F_3) : Let $t, t' > 0$ be and $F(t, t, 0, 0, t, t') = t - k \max \left\{ t, \frac{t + t'}{2} \right\} \leq 0$. If $t > t'$, then $t(1 - k) \leq 0$, a contradiction.

Hence, $t \leq t'$, which implies $t \leq h_2 t'$, $0 \leq h_2 = k < 1$.

Example 3.6. $F(t_1, \dots, t_6) = t_1^3 - c \frac{t_3^2 t_4^2 + t_5^2 t_6^2}{1 + t_2 + t_3 + t_4}$, where $c \in [0, 1)$.

(F_1) : Obviously.

(F_2) : Let $u, v \geq 0$ be and $F(u, v, v, u, u + v, 0) = u^3 - c \frac{u^2 v^2}{1 + 2v + u} \leq 0$. If $u > 0$, then $u \leq cv \cdot \frac{v}{1 + 2v + u} \leq cv$. Hence, $u \leq h_1 v$, where $0 \leq h_1 = c < 1$. If $u = 0$, then $u \leq h_1 v$.

(F_3) : Let $t, t' > 0$ be and $F(t, t, 0, 0, t, t') = t^3 - c \frac{t^2 t'^2}{1 + t} \leq 0$ which implies $t^2 - c \frac{t}{1 + t} \cdot t'^2 \leq c \cdot t'^2$, which implies $t \leq h_2 t'$, where $0 \leq h_2 = c < 1$.

Example 3.7. $F(t_1, \dots, t_6) = t_1^2 - at_2^2 - c \frac{t_5 t_6}{1 + t_3^2 + t_4^2}$, where $a, c \geq 0$ and $0 < a + c < 1$.

(F_1) : Obviously.

(F_2) : Let $u, v \geq 0$ be and $F(u, v, v, u, u + v, 0) = u^2 - av^2 \leq 0$, which implies $u \leq h_1 v$, where $0 \leq h_1 = \sqrt{a} < 1$.

(F_3) : Let $t, t' > 0$ be and $F(t, t, 0, 0, t, t') = t^2(1 - a) - ctt' \leq 0$ which implies $t \leq h_2 t'$, where $0 \leq h_2 = \frac{c}{1 - a} < 1$.

Example 3.8. $F(t_1, \dots, t_6) = t_1 - at_2 - bt_3 - c \max\{2t_4, t_5 + t_6\}$, where $a, b, c \geq 0$ and $a + b + 2c < 1$.

(F_1) : Obviously.

(F_2) : Let $u, v \geq 0$ be and $F(u, v, v, u, u + v, 0) = u - av - c \max\{2u, u + v\} \leq 0$. If $u > v$ then $u(1 - (a + b + 2c)) \leq 0$, a contradiction. Hence $u \leq v$, which implies $u \leq h_1 v$, where $0 \leq h_1 = \frac{a + b + c}{1 - c} < 1$.

(F_3) : Let $t, t' > 0$ be and $F(t, t, 0, 0, t, t') = t - at - c(t + t') \leq 0$, which implies $t \leq h_2 t'$, where $0 \leq h_2 = \frac{c}{1 - (a + c)} < 1$.

Example 3.9. $F(t_1, \dots, t_6) = t_1 - at_2 - bt_3 - c \max\{t_4 + t_5, 2t_6\}$, where $a, b, c \geq 0$ and $a + b + 3c < 1$.

(F_1) : Obviously.

(F_2) : Let $u, v \geq 0$ be and $F(u, v, v, u, u + v, 0) = u - av - bv - c(2u + v) \leq 0$, which implies $u \leq h_1 v$, where $0 \leq h_1 = \frac{a + b + c}{1 - 2c} < 1$.

(F_3) : Let $t, t' > 0$ be and $F(t, t, 0, 0, t, t') = t - at - c \max\{t, 2t'\} \leq 0$. If $t > 2t'$, then $t(1 - (a + c)) \leq 0$, a contradiction. Hence, $t \leq h_2 t'$, where $0 \leq h_2 = \frac{2c}{1 - a} < 1$.

Example 3.10. $F(t_1, \dots, t_6) = t_1 - c \max\{t_2, t_3, \sqrt{t_4 t_6}, \sqrt{t_5 t_6}\}$, where $c \in (0, 1)$.

(F_1) : Obviously.

(F_2) : Let $u, v \geq 0$ be and $F(u, v, v, u, u + v, 0) = u - cv \leq 0$ and $u \leq h_1 v$, where $0 \leq h_1 = c < 1$.

(F_3) : Let $t, t' > 0$ be and $F(t, t, 0, 0, t, t') = t - c \max\{t, \sqrt{tt'}\} \leq 0$. If $t > t'$, then $t(1 - c) \leq 0$, a contradiction. Hence, $t \leq t'$ which implies $t \leq h_2 t'$, where $0 \leq h_2 = c < 1$.

4. MAIN RESULT

Theorem 4.1. Let (X, G) be a G - metric space and $P_i : (X, G) \rightarrow (X, G), i = 1, 2, \dots, k$ such that

$$(4.1) \quad \begin{aligned} &F(G(P_i x, P_{i+1} y, P_{i+1} y), G(x, y, y), G(x, P_i x, P_i x), \\ &G(y, P_{i+1} y, P_{i+1} y), G(x, P_{i+1} y, P_{i+1} y), G(y, P_i x, P_i x)) \leq 0 \end{aligned}$$

for $i=1, 2, \dots, k$, where $P_{k+1} = P_1$ for all $x, y \in X$ and F satisfying (F_3) . Then P_1, \dots, P_k have at most a unique common fixed point.

Proof. Suppose that P_1, \dots, P_k have two fixed points u and v . Then by (4.1) we have successively

$$\begin{aligned} &F(G(P_i u, P_{i+1} v, P_{i+1} v), G(u, v, v), G(u, P_i u, P_i u), \\ &G(v, P_{i+1} v, P_{i+1} v), G(u, P_{i+1} v, P_{i+1} v), G(v, P_i u, P_i u)) \leq 0, \\ &F(G(u, v, v), G(u, v, v), 0, 0, G(u, v, v), G(v, u, u)) \leq 0 \end{aligned}$$

By (F_3) we obtain

$$(4.2) \quad G(u, v, v) \leq h_2 G(v, u, u).$$

Similarly, for $x = v$ and $y = u$ we obtain

$$(4.3) \quad G(v, u, u) \leq h_2 G(u, v, v).$$

Therefore, $G(u, v, v)(1 - h_2^2) \leq 0$ which implies $u = v$. \square

Theorem 4.2. *Let (X, G) be a G - complete metric space and $P_i : (X, G) \rightarrow (X, G)$, $i=1,2,\dots,k$ satisfying inequality (4.1) for all $i = 1, \dots, k$, $P_{k+1} = P_1$ and $F \in \mathfrak{F}_G$. Then P_1, P_2, \dots, P_k have a unique common fixed point.*

Proof. Let x be an arbitrary point in X . We define a sequence (x_n) such that

$$\begin{aligned} x_1 &= P_1 x, x_2 = P_2 x_1, \dots, x_k = P_k x_{k-1}, \\ x_{k+1} &= P_1 x_k, x_{k+2} = P_2 x_{k+1}, \dots, x_{2k} = P_k x_{2k-1}, \\ &\dots \\ x_{nk+1} &= P_1 x_{nk}, x_{nk+2} = P_2 x_{nk+1}, \dots, x_{(n+1)k} = P_k x_{(n+1)k-1}, \\ &\dots \end{aligned}$$

By (4.1) we have successively

$$\begin{aligned} &F(G(P_1 x, P_2 x_1, P_2 x_1), G(x, x_1, x_1), G(x, P_1 x, P_1 x), \\ &G(x_1, P_2 x_1, P_2 x_1), G(x, P_2 x_1, P_2 x_1), G(x_1, P_1 x, P_1 x)) \leq 0, \\ &F(G(x_1, x_2, x_2), G(x, x_1, x_1), G(x, x_1, x_1), \\ &G(x_1, x_2, x_2), G(x, x_2, x_2), 0) \leq 0. \end{aligned}$$

By (G_5) we have

$$(4.4) \quad G(x, x_2, x_2) \leq G(x, x_1, x_1) + G(x_1, x_2, x_2).$$

By (F_1) and (4.4) we obtain

$$\begin{aligned} &F(G(x_1, x_2, x_2), G(x, x_1, x_1), G(x, x_1, x_1), \\ &G(x_1, x_2, x_2), G(x, x_1, x_1) + G(x_1, x_2, x_2), 0) \leq 0. \end{aligned}$$

By (F_2) we obtain

$$(4.5) \quad G(x_1, x_2, x_2) \leq h_1 G(x, x_1, x_1).$$

Similarly, we obtain

$$G(x_{k-1}, x_k, x_k) \leq h_1^{k-1} G(x, x_1, x_1).$$

By (4.2) we have successively

$$\begin{aligned} &F(G(P_k x_{k-1}, P_1 x_k, P_1 x_k), G(x_{k-1}, x_k, x_k), G(x_{k-1}, P_{k-1} x_{k-1}, P_{k-1} x_{k-1}), \\ &G(x_k, P_k x_k, P_k x_k), G(x_{k-1}, P_1 x_k, P_1 x_k), G(x_k, x_{k+1}, x_{k+1})) \leq 0. \end{aligned}$$

By (G_5)

$$G(x_{k-1}, x_{k+1}, x_{k+1}) \leq G(x_{k-1}, x_k, x_k) + G(x_k, x_{k+1}, x_{k+1}).$$

By (F_1) we obtain

$$\begin{aligned} & F(G(x_k, x_{k+1}, x_{k+1}), G(x_{k-1}, x_k, x_k), G(x_{k-1}, x_k, x_k), \\ & G(x_k, x_{k+1}, x_{k+1}), G(x_{k-1}, x_k, x_k) + G(x_k, x_{k+1}, x_{k+1}), 0) \leq 0. \end{aligned}$$

By (F_2) we obtain

$$G(x_k, x_{k+1}, x_{k+1}) \leq h_1 G(x_{k-1}, x_k, x_k) \leq h_1^k G(x, x_1, x_1).$$

By induction we obtain

$$G(x_n, x_{n+1}, x_{n+1}) \leq h_1^n G(x, x_1, x_1).$$

Moreover, for all $m, n \in \mathbb{N}$, $m > n$ we have repeated use the rectangular inequality that

$$\begin{aligned} G(x_n, x_m, x_m) & \leq G(x_n, x_{n+1}, x_{n+1}) + G(x_{n+1}, x_{n+2}, x_{n+2}) + \dots + \\ & \quad + G(x_{m-1}, x_m, x_m) \\ & \leq (h_1^n + h_1^{n+1} + \dots + h_1^m) G(x, x_1, x_1) \\ & \leq \frac{h_1^n}{1 - h_1} G(x, x_1, x_1) \end{aligned}$$

and

$$\lim_{m, n \rightarrow \infty} G(x_n, x_m, x_m) = 0.$$

Hence (x_n) is a G - Cauchy sequence in (X, G) . Since (X, G) is a G - complete metric space, there exist $u \in X$ such that $\lim_{n \rightarrow \infty} x_n = u$. We prove that $P_s u = u$ for $s = 1, 2, \dots, k$.

By (4.1) we obtain

$$\begin{aligned} & F(G(P_s x_{nk+s}, P_{s+1} u, P_{s+1} u), G(x_{nk+s}, u, u), \\ & G(x_{nk+s}, P_s x_{nk+s}, P_s x_{nk+s}), G(u, P_{s+1} u, P_{s+1} u), \\ & G(x_{nk+s}, P_{s+1} u, P_{s+1} u), G(x_{nk+s}, P_s x_{nk+s}, P_s x_{nk+s})) \leq 0, \\ & F(G(x_{nk+s+1}, P_{s+1} u, P_{s+1} u), G(x_{nk+s}, u, u), \\ & G(x_{nk+s}, x_{nk+s+1}, x_{nk+s+1}), G(u, P_{s+1} u, P_{s+1} u), \\ & G(x_{nk+s}, P_{s+1} u, P_{s+1} u), G(u, x_{nk+s+1}, x_{nk+s+1})) \leq 0. \end{aligned}$$

Letting n tend to infinity we obtain

$$F(G(u, P_{s+1} u, P_{s+1} u), 0, 0, G(u, P_{s+1} u, P_{s+1} u), G(u, P_{s+1} u, P_{s+1} u), 0) \leq 0.$$

By (F_2) we obtain $G(u, P_{s+1} u, P_{s+1} u) = 0$, which implies that $u = P_{s+1} u$ and u is a common fixed point for P_2, \dots, P_k and $P_{k+1} = P_1$.

By Theorem 4.1 u is the unique common fixed point for P_1, P_2, \dots, P_k . \square

Corollary 4.1. *Let (X, G) be a G - metric complete space and let $P_1, P_2, \dots, P_k : (X, G) \rightarrow (X, G)$ such that*

$$(4.6) \quad \begin{aligned} &F(G(P_1x, P_2y, P_2y), G(x, y, y), \\ &G(x, P_1x, P_1x), G(y, P_2y, P_2y), \\ &G(x, P_2y, P_2y), G(y, P_1x, P_1x)) \leq 0 \end{aligned}$$

$$(4.7) \quad \begin{aligned} &F(G(P_2x, P_1y, P_1y), G(x, y, y), \\ &G(x, P_2x, P_2x), G(y, P_1y, P_1y), \\ &G(x, P_1y, P_1y), G(y, P_2x, P_2x)) \leq 0 \end{aligned}$$

for all $x, y \in X$ and $F \in \mathfrak{F}_G$. Then P_1 and P_2 have a unique common fixed point.

REFERENCES

- [1] M. Abbas and B. E. Rhoades, **Common fixed point results for noncommuting mappings without continuity in generalized metric spaces**, Appl. Math. and Computation, 215 (2009), 262 - 269.
- [2] M. Abbas, T. Nazir and S. Radenović, **Some perioridic point results in generalized metric spaces**, Appl. Math. Computation, 217 (2010), 4094 - 4099.
- [3] R. Chung, T. Kadian, A. Rani and B. E. Rhoades, **Property (P) in G - metric spaces**, Fixed Point Theory and Applications, Vol. 2010, Article ID 461684, 12 pages.
- [4] B. C. Dhage, **Generalized metric spaces and mappings with fixed point**, Bull. Calcutta Math. Soc. 84 (1992), 329 - 336.
- [5] B. C. Dhage, **Generalized metric spaces and topological structures**, Anal. St. Univ. "Al. I. Cuza" Iași, Ser. Math. 46, 1 (2000), 3 - 24.
- [6] H. Karayilan and M. Telci, **Common fixed point of two maps in complete G - metric spaces**, Sci. Stud. Res. Ser. Math. Inform., Univ. Vasile Alecsandri, Bacău, 20, 2(2010), 39 - 48.
- [7] S. Manro, S. S. Bhatia and S. Kumar, **Expansive mappings theorems in G - metric spaces**, Int. J. Contemp. Math. Sci. 5 (2010), no. 51, 2529 - 2535.
- [8] Z. Mustafa and B. Sims, **Some remarks concerning D - metric spaces**, Intern. Conf. Fixed Point Theory and Applications, Yokohama, 2004, 184 - 198.
- [9] Z. Mustafa and B. Sims, **A new approach to generalized metric spaces**, J. Nonlinear Convex Analysis, 7 (2006), 289 - 297.
- [10] Z. Mustafa, H. Obiedat and F. Awadeh, **Some fixed point theorems for mappings on complete G - metric spaces**, Fixed Point Theory and Applications 2008, Article ID 189870, 12 pages.
- [11] Z. Mustafa, W. Shatanawi and M. Bataineh, **Fixed point theorems on uncomplete G - metric spaces**, J. Math. Statistics, 4 (4) (2008), 196 - 201.
- [12] Z. Mustafa and B. Sims, **Fixed point theorems for contractive mappings in complete G - metric spaces**, Fixed Point Theory and Applications 2009, Article ID 917175, 10 pages.

- [13] Z. Mustafa, W. Shatanawi and M. Baitaneh, **Existence of fixed point results in G - metric spaces**, Intern. J. Math. Math. Sci., Article ID 283028, 2009, 10 pages.
- [14] Z. Mustafa and H. Obiedat, **A fixed point theorem of Reich in G - metric spaces**, Cubo A Math. Journal, 12 (2010), 83 - 93.
- [15] V. Popa, **Fixed point theorems for implicit contractive mappings**, Stud. Cerc. St. Ser. Math. Univ. Bacău, 7 (1997), 129 - 133.
- [16] V. Popa, **Some fixed point theorems for compatible mappings satisfying an implicit relation**, Demonstratio Math. 32 (1999), 157 - 163.
- [17] V. Popa and G. Puiu, **On the common fixed points of several mappings (Romanian)**, Stud. Cerc. Mat., 26 (1974), 439 - 444.
- [18] W. Shatanawi, **Fixed point theory for contractive mappings satisfying ϕ - maps in G - metric spaces**, Fixed Point Theory and Applications, Vol. 2010, Article ID 181650, 9 pages.
- [19] I.A. Rus, **On common fixed points**, St. Univ. Babeş - Bolyai, ser. Math. Mech., 1 (1973), 31 - 33.

Department of Mathematics and Informatics, Faculty of Sciences
"Vasile Alecsandri" University of Bacău
157 Calea Mărăşeşti, Bacău, 600115, Romania
email: vpopa@ub.ro